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	Answers
	Marks
	



	1 
	Fan heater

Washing machine

Blender

Vacuum cleaner
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Efficiency = 40%
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	3 
	a (J) and c (kWh)
	1
	

	4 
	a
215 
b
Total cost = number of kWh used  X cost per kWh


cost per kWh = total cost/number of kWh used


cost per kWh = 525p/35


cost per kWh = 15p

c
E = P X t

E = 2.4 kW X 2 h


E = 4.8 kW h
	1

3

3
	

	5 
	a
90 joules of energy are transferred 
each second
b
E = P X t

E = 0.09 kW X 0.25 h


E = 0.0225 kW h (3 marks)

c
cost = number of kW h used X cost per kW h


cost per day =  0.0225 kW h X 14p = 0.315p


cost for the year = 0.315p X 365 = 115p or £1.15
	2
3

2
	

	6
	a
Compact fluorescent bulb is more efficient than the filament bulb.


 A bigger proportion of the energy supplied to the compact fluorescent 
bulb is transferred to light and less wasted to the surroundings as          heating.
	2
	

	
	   b There is a clear, balanced and detailed description of the advantages and disadvantages of buying compact fluorescent bulbs rather than filament bulbs. The answer shows almost faultless spelling, punctuation and grammar. It is coherent and in an organised, logical sequence. It contains a range of appropriate or relevant specialist terms used accurately. 
There is a description of a range of the advantages and disadvantages of buying compact fluorescent bulbs rather than filament bulbs. There are some errors in spelling, punctuation and grammar. The answer has some structure and organisation. The use of specialist terms has been attempted, but not always accurately. 
There is a brief description of at least two advantages and disadvantages of buying compact fluorescent bulbs rather than filament bulbs, which has little clarity and detail. The spelling, punctuation and grammar are very weak. The answer is poorly organised with almost no specialist terms and/or their use demonstrating a general lack of understanding of their meaning. 
No relevant content. 
Examples of physics points made in the response:
    Advantages of compact fluorescent bulbs:

•   more efficient/4 times more efficient


•   cheaper to use


•   lasts longer/lasts 8 times as long


•   better for the environment.

Disadvantages of compact fluorescent bulbs:
    •   more expensive to buy/cost 24  times as much to buy


•   disposal a problem because of mercury vapour


•   shortened lifespan if turned on and off very frequently.
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